

$$(1i) \int \frac{2x}{x^2+2x+2} dx = \int \frac{2x+2+2}{x^2+2x+2} dx =$$

$$= \int \frac{2x+2}{x^2+2x+2} dx + 2 \int \frac{dx}{x^2+2x+2} =$$

$$= \int \frac{d(x^2+2x+2)}{x^2+2x+2} - 2 \int \frac{dx}{x^2+2x+2} =$$

$$= \ln(x^2+2x+2) + C - 2I_2 \quad I_2 =$$

$$x^2+2x+2 = (x^2+2x+1)+1 = (\underbrace{x+1}_y)^2+1 \quad [y=x+1]$$

$$I_2 = \int \frac{dy}{y^2+1} = \arctan y + C =$$

$$= \arctan(x+1) + C$$

$$(1ii) \int \frac{2x^2+x+1}{(x+3)(x-1)^2} dx$$

$$\frac{a}{x+3} + \frac{b}{x-1} + \frac{\gamma}{(x-1)^2} = \frac{a(x-1)^2 + b(x-1)(x+3) + \gamma(x+3)}{(x+3)(x-1)^2} =$$

$$= \frac{ax^2 - 2ax + a + bx^2 + 2bx - 3b + \gamma x + 3\gamma}{(x+3)(x-1)^2} =$$

$$= \frac{(a+b)x^2 + (2b+\gamma-2a)x + 3\gamma+a-3b}{(x+3)(x-1)^2} = \frac{2x^2+x+1}{(x+3)(x-1)^2} \rightarrow$$

~~$$\begin{cases} a+b=2 \\ 2b+\gamma-2a=1 \\ 3\gamma+a-3b=1 \end{cases} \Rightarrow \begin{cases} a=2-b \\ 2b+\gamma-4+2b=2 \Rightarrow \gamma=-4b+6 \\ -12b+18+2-b-3b=1 \Rightarrow \end{cases}$$~~

~~$$\Rightarrow \gamma =$$~~

2

$$\frac{a}{x+3} + \frac{b}{x-1} + \frac{\gamma}{(x-1)^2} = \frac{a(x-1)^2 + b(x+3)(x-1) + \gamma(x+3)}{(x-1)^2} \rightarrow$$

$$\Rightarrow a(x^2 - 2x + 1) + b(x^2 + 3x - x - 3) + \gamma x + 3\gamma = 2x^2 + x + 1$$

$$\Rightarrow (a+b)x^2 + (\gamma + 2b - 2a)x + (a + 3\gamma - 3b) = 2x^2 + x + 1$$

$$\Rightarrow \begin{cases} a+b=2 & \Rightarrow a=2-b \\ \gamma+2b-2a=1 & \Rightarrow \gamma+2b-4+2b=1 \Rightarrow \gamma+4b=5 \Rightarrow \\ a+3\gamma-3b=1 & \Rightarrow \gamma=5-4b \end{cases}$$

↓

$$2-b+15-12b-3b=1 \Rightarrow 16=16b \Rightarrow b=1$$

$$\Rightarrow (a, b, \gamma) = (1, 1, 1)$$

$$I = \int \frac{dx}{x+3} + \int \frac{dx}{x-1} + \int \frac{dx}{(x-1)^2} \quad [x-1=y]$$

$$= \ln|x+3| + \ln|x-1| + C + \int \frac{dy}{y^2} =$$

$$= \ln|x+3| + \ln|x-1| - \frac{1}{y} + C =$$

$$= \ln|x+3| + \ln|x-1| - \frac{1}{x-1} + C.$$

$$(iii) \int \frac{3x^2 + 3x + 1}{x^3 + 2x^2 + 2x + 1} dx = I$$

$$x^3 + 2x^2 + 2x + 1 = (x^3 + x^2) + (x^2 + x) + (x + 1) =$$

$$= (x+1)x^2 + (x+1)x + (x+1) =$$

$$= (x+1)(x^2 + x + 1)$$

$$\frac{a}{x+1} + \frac{bx+\gamma}{x^2+x+1} = \frac{ax^2+ax+a+bx^2+bx+\gamma x+\gamma}{(x+1)(x^2+x+1)} \rightarrow$$

$$a+b=3 \quad \left. \begin{array}{l} \\ \\ \end{array} \right\} \Rightarrow \gamma=0$$

$$a+b+\gamma=3$$

③

$$I = \int \frac{dx}{x+1} + \int \frac{2x dx}{x^2+x+1} = \int \frac{d(x+1)}{x+1} + \int \frac{2x+1-1}{x^2+x+1} dx$$

$$= \ln|x+1| + c + \int \frac{2x+1}{x^2+x+1} dx - \int \frac{dx}{x^2+x+1} =$$

$$= \ln|x+1| + \ln(x^2+x+1) + c - \underbrace{\int \frac{dx}{x^2+x+1}}_{I_1}$$

$$x^2+x+1 = x^2 + 2 \cdot x \cdot \frac{1}{2} + \frac{1}{4} - \frac{1}{4} + 1 = \left(x + \frac{1}{2}\right)^2 + \frac{3}{4} =$$

$$= \frac{3}{4} \left[\frac{4}{3} \left(x + \frac{1}{2}\right)^2 + 1 \right] = \frac{3}{4} \left[\underbrace{\left(\frac{2}{\sqrt{3}} \left(x + \frac{1}{2}\right)\right)^2}_{y} + 1 \right] \Rightarrow$$

$$\Rightarrow \left[y = \frac{2}{\sqrt{3}} \left(x + \frac{1}{2}\right) \Rightarrow dy = \frac{2}{\sqrt{3}} dx \Rightarrow dx = \frac{\sqrt{3}}{2} dy \right]$$

tan

$$I_1 = \int \frac{\frac{\sqrt{3}}{2} dy}{\frac{3}{4} (y^2+1)} = \frac{2}{\sqrt{3}} \int \frac{dy}{y^2+1} = \frac{2}{\sqrt{3}} \arctan y + c =$$

$$= \frac{2}{\sqrt{3}} \arctan \left(\frac{2}{\sqrt{3}} \left(x + \frac{1}{2}\right) \right) + c.$$

$$(2i) \int \frac{dx}{x^4+1} = I$$

$$x^4+1 = (x^2+1)^2 - 2x^2 = (x^2+1)^2 - (\sqrt{2}x)^2 = (x^2+\sqrt{2}x+1)(x^2-\sqrt{2}x+1)$$

$$\frac{1}{x^4+1} = \frac{ax+b}{x^2+\sqrt{2}x+1} + \frac{\gamma x+\delta}{x^2-\sqrt{2}x+1} \Rightarrow$$

$$\Rightarrow (ax+b)(x^2-\sqrt{2}x+1) + (\gamma x+\delta)(x^2+\sqrt{2}x+1) = 1 \Rightarrow$$

$$\Rightarrow ax^3 - \sqrt{2}ax^2 + ax + bx^2 - \sqrt{2}bx + b +$$

$$\gamma x^3 + \sqrt{2}\gamma x^2 + \gamma x + \delta x^2 + \sqrt{2}\delta x + \delta = 1 \Rightarrow$$

$$\Rightarrow \begin{cases} a+\gamma = 0 \\ b-\sqrt{2}a+\sqrt{2}\gamma+\delta = 0 \\ a-\sqrt{2}b+\gamma+\sqrt{2}\delta = 0 \\ b+\delta = 1 \end{cases} \Rightarrow \begin{cases} \gamma = -a \\ b-\sqrt{2}a-\sqrt{2}a+1-b = 0 \\ a-\sqrt{2}b-a+\sqrt{2}(1-b) = 0 \\ \delta = 1-b \end{cases}$$

$$\Rightarrow \begin{cases} 1 = 2\sqrt{2}a \Rightarrow a = \frac{1}{2\sqrt{2}} = \frac{\sqrt{2}}{4} \Rightarrow \gamma = -\frac{\sqrt{2}}{4} \\ -\sqrt{2}b - \sqrt{2}b + \sqrt{2} = 0 \Rightarrow -2b + 1 = 0 \Rightarrow b = \frac{1}{2} = \delta \end{cases}$$

$$I = \int \frac{\frac{\sqrt{2}}{4}x + \frac{1}{2}}{x^2+\sqrt{2}x+1} dx - \int \frac{\frac{\sqrt{2}}{4}x - \frac{1}{2}}{x^2-\sqrt{2}x+1} dx$$

$$= \frac{\sqrt{2}}{4} \int \frac{x+\sqrt{2}}{x^2+\sqrt{2}x+1} dx - \frac{\sqrt{2}}{4} \int \frac{x-\sqrt{2}}{x^2-\sqrt{2}x+1} dx$$

$\underbrace{\hspace{10em}}_{I_1} \qquad \qquad \qquad \underbrace{\hspace{10em}}_{I_2}$

$$I_1 = \frac{1}{2} \int \frac{2x+2\sqrt{2}}{x^2+\sqrt{2}x+1} dx = \frac{1}{2} \int \left[\frac{2x+\sqrt{2}}{x^2+\sqrt{2}x+1} + \frac{\sqrt{2}}{x^2+\sqrt{2}x+1} \right] dx =$$

$$= \frac{1}{2} \int \frac{d(x^2+\sqrt{2}x+1)}{x^2+\sqrt{2}x+1} - \frac{\sqrt{2}}{2} \int \frac{dx}{x^2+\sqrt{2}x+1} =$$

$\underbrace{\hspace{10em}}_{I_3}$

$$= \frac{1}{2} \ln(x^2 + \sqrt{2}x + 1) + C - \frac{\sqrt{2}}{2} I_3.$$

Πα To I_3 :

$$\begin{aligned} x^2 + \sqrt{2}x + 1 &= x^2 + 2 \cdot x \cdot \frac{\sqrt{2}}{2} + \left(\frac{\sqrt{2}}{2}\right)^2 + 1 - \left(\frac{\sqrt{2}}{2}\right)^2 = \\ &= \left(x + \frac{\sqrt{2}}{2}\right)^2 + 1/2 = \frac{1}{2} \left[2\left(x + \frac{\sqrt{2}}{2}\right)^2 + 1\right] = \\ &= \frac{1}{2} \left[\left(\sqrt{2} \cdot \left(x + \frac{\sqrt{2}}{2}\right)\right)^2 + 1\right] = \\ &= \frac{1}{2} \left[\left(\sqrt{2}x + 1\right)^2 + 1\right] \end{aligned}$$

Θέτω $y = \sqrt{2}x + 1 \Rightarrow dy = \sqrt{2} dx \Rightarrow dx = \frac{\sqrt{2}}{2} dy$, και

$$I_3 = \int \frac{dx}{x^2 + \sqrt{2}x + 1} = \int \frac{\frac{\sqrt{2}}{2} dy}{\frac{1}{2}(y^2 + 1)} = \sqrt{2} \int \frac{dy}{y^2 + 1} =$$

$$= \sqrt{2} \arctan y + C = \sqrt{2} \arctan(\sqrt{2}x + 1) + C.$$

Παρομοια To I_2 .

$$(2ii) \int \frac{dx}{\sqrt{x} + \sqrt[3]{x}} = I = ?$$

Θέτω $y = \sqrt[6]{x} \Rightarrow x = y^6$ και $dx = 6y^5 dy$.
 $\sqrt{x} = y^3$
 $\sqrt[3]{x} = y^2$

$$I = \int \frac{6y^5 dy}{y^3 + y^2} = 6 \int \frac{y^3 dy}{y + 1}$$

6

$$\int \frac{6y^3}{y+1} dy = 6 \int \frac{y^3 + y^2 - y^2 - y + y + 1 - 1}{y+1} dy$$

$$= 6 \int \frac{(y+1)(y^2 - y + 1) - 1}{y+1} dy =$$

$$= 6 \int (y^2 - y + 1) dy - 6 \int \frac{dy}{y}$$

$$= 6 \left(\frac{y^3}{3} - \frac{y^2}{2} + y \right) - 6 \ln|y| + c =$$

$$= 2y^3 - 3y^2 + y - 6 \ln|y| + c =$$

$$= 2\sqrt{x} - 3\sqrt[3]{x} + \sqrt{x} - \underbrace{6 \ln \sqrt[6]{x}}_{- \ln x} + c$$

(215) $\int \frac{dx}{\sqrt{1+e^x}} = I = ?$

$$u := \sqrt{1+e^x} \Rightarrow u^2 = 1+e^x \Rightarrow x = \ln(u^2 - 1) \Rightarrow$$

$$\Rightarrow dx = \frac{2udu}{u^2 - 1}$$

$$I = \int \frac{2udu}{u(u^2 - 1)} = \int \frac{2du}{(u+1)(u-1)} = \int \frac{du}{u-1} - \int \frac{du}{u+1} =$$

$$= \ln|u-1| - \ln|u+1| + c =$$

$$= \ln(\sqrt{1+e^x} - 1) - \ln(\sqrt{1+e^x} + 1) + c.$$

$$(3i) I = \int \cos^3 x dx = \int \cos^2 x \cos x dx =$$

$$= \int (1 - \sin^2 x) (\sin x)' dx \quad [u = \sin x \Rightarrow du = (\sin x)' dx]$$

$$= \int (1 - u^2) du = \int du - \int u^2 du = u - \frac{u^3}{3} + C =$$

$$= \sin x - \frac{\sin^3 x}{3} + C.$$

$$(3ii) I = \int \frac{dx}{\cos^4 x}$$

$$\frac{1}{\cos^2 x} = 1 + \tan^2 x = (\tan x)' \Rightarrow$$

$$I = \int (1 + \tan^2 x) (\tan x)' dx =$$

$$[u = \tan x \Rightarrow du = (\tan x)' dx]$$

$$= \int (1 + u^2) du = u + \frac{u^3}{3} + C = \tan x + \frac{\tan^3 x}{3} + C.$$

$$(3v) I = \int \sqrt{\tan x} dx$$

$$[u = \sqrt{\tan x} \Rightarrow u^2 = \tan x \Rightarrow x = \arctan u^2 \Rightarrow$$

$$\Rightarrow dx = \frac{2u du}{u^4 + 1}]$$

$$I = \int u \frac{2u du}{u^4 + 1} = 2 \int \frac{u^2 du}{u^4 + 1} \quad u \in \mathbb{R}.$$

$$(5i) I = \int \frac{x^2 dx}{(x^2-4)(x^2-1)}$$

$$(x^2-4)(x^2-1) = (x+1)(x-1)(x+2)(x-2)$$

$$\frac{x^2}{(x^2-4)(x^2-1)} = \frac{a}{x-1} + \frac{\beta}{x+1} + \frac{\gamma}{x-2} + \frac{\delta}{x+2} \iff$$

$$\iff x^2 = a(x+1)(x^2-4) + \beta(x-1)(x^2-4) + \gamma(x+2)(x^2-1) + \delta(x-2)(x^2-1)$$

$$\iff \begin{cases} a + \beta + \gamma + \delta = 0 \\ a - \beta + 2\gamma - 2\delta = 1 \\ -4a - 4\beta - \gamma - \delta = 0 \\ -4a + 4\beta - 2\gamma + 2\delta = 0 \end{cases} \iff \begin{cases} a = -1/6 \\ \beta = 1/6 \\ \gamma = 1/3 \\ \delta = -1/3 \end{cases}$$

$$I = -\frac{1}{6} \int \frac{dx}{x-1} + \frac{1}{6} \int \frac{dx}{x+1} + \frac{1}{3} \int \frac{dx}{x-2} - \frac{1}{3} \int \frac{dx}{x+2}$$

$$= -\frac{1}{6} \ln|x-1| + \frac{1}{6} \ln|x+1| + \frac{1}{3} \ln|x-2| - \frac{1}{3} \ln|x+2| + c$$

$$5(vi) I = \int x \sin^2 x dx \quad [\sin^2 x = \frac{1 - \cos 2x}{2}]$$

$$= \int x \frac{1 - \cos 2x}{2} dx = \int \frac{x dx}{2} - \frac{1}{2} \int x \cos 2x dx$$

$$= \frac{x^2}{4} + C - \frac{1}{2} \int x \cos 2x dx$$

$\underbrace{\hspace{10em}}_{I_1}$

$$[y = 2x \implies x = y/2 \text{ and } dx = dy/2]$$

$$\begin{aligned}
 I_1 &= \int \frac{y}{2} \cos y \frac{dy}{2} = \frac{1}{4} \int y \cos y dy = \frac{1}{4} \int y (\sin y)' dy \\
 &= \frac{1}{4} [y \sin y - \int \sin y dy] = \frac{1}{4} [y \sin y + \cos y] + c \\
 &= \frac{1}{4} 2x \sin 2x + \frac{1}{4} \cos 2x + c.
 \end{aligned}$$

$$\begin{aligned}
 (5 \text{ vii}) \quad I &= \int \ln(x + \sqrt{x}) dx = \int x' \ln(x + \sqrt{x}) dx = \\
 &= x \ln(x + \sqrt{x}) - \int x \cdot \frac{1}{x + \sqrt{x}} \cdot \left(1 + \frac{1}{2\sqrt{x}}\right) dx = \\
 &= x \ln(x + \sqrt{x}) - \underbrace{\int \frac{x}{x + \sqrt{x}} \cdot \frac{2\sqrt{x} + 1}{2\sqrt{x}} dx}_{I_1}
 \end{aligned}$$

$$[u = \sqrt{x} \Rightarrow u^2 = x \Rightarrow dx = 2u du]$$

$$\begin{aligned}
 I_1 &= \int \frac{u^2}{u^2 + u} \cdot \frac{2u + 1}{2u} \cdot 2u du = \\
 &= \int \frac{u(2u + 1)}{u + 1} du = \int \frac{2u^2 + u}{u + 1} du = \\
 &= \int \frac{2u^2 + 2u - u - 1 + 1}{u + 1} du = \\
 &= \int \left(2u - 1 + \frac{1}{u + 1}\right) du = \frac{2u^3}{3} - \frac{u^2}{2} + \ln|u + 1| + c.
 \end{aligned}$$

(5x)

$$I = \int \frac{x}{1 + \sin x} dx$$

ΘΕτοπος $y = \tan \frac{x}{2} \Rightarrow \arctan y = \frac{x}{2} \Rightarrow x = 2 \arctan y$

$\rightarrow dx = 2 \frac{dy}{1+y^2}$ και $\sin x = \frac{2 \tan \frac{x}{2}}{1 + \tan^2 \frac{x}{2}} = \frac{2y}{1+y^2}$

$$I = \int \frac{2 \arctan y}{1 + \frac{2y}{1+y^2}} \cdot 2 \frac{dy}{1+y^2} =$$

$$= \int \frac{4 \arctan y dy}{(1+y^2+2y) \cdot (1+y^2)} =$$

$$= 4 \int \frac{\arctan y}{(1+y)^2} dy = 4 \int \arctan y \left(-\frac{1}{1+y}\right)' dy$$

$$= -4(\arctan y) \frac{1}{1+y} + 4 \int \frac{1}{1+y} \cdot \frac{1}{1+y^2} dy$$

πρώτο μέρος αρα σε αρα
διακρίνω
επιπ

(11)

$$(6i) \int \sin(\ln x) dx = I$$

$$[u = \ln x \Rightarrow e^u = x \Rightarrow dx = e^u du]$$

$$I = \int \sin u \cdot e^u du = \int \sin u \cdot (e^u)' du =$$

$$= e^u \sin u - \int e^u \cos u du =$$

$$= e^u \sin u - e^u \cos u + \int e^u (-\sin u) du =$$

$$= e^u (\sin u - \cos u) - I \Rightarrow$$

$$\Rightarrow 2I = e^u (\sin u - \cos u) \Rightarrow$$

$$\Rightarrow I = \frac{1}{2} \cdot x \cdot (\sin(\ln x) - \cos(\ln x)) + C.$$

$$(6ii) \int \frac{1}{2\sqrt{x}} \ln(1-x) dx = I =$$

$$= \int (-2) \left(\frac{1}{\sqrt{x}}\right)' \ln(1-x) dx =$$

$$= -\frac{2 \ln(1-x)}{\sqrt{x}} + 2 \int \frac{1}{\sqrt{x}} \cdot \frac{(-1)}{1-x} dx =$$

$$= -\frac{2 \ln(1-x)}{\sqrt{x}} - 2 \int \frac{dx}{\sqrt{x}(1-x)} \quad \underbrace{\int \frac{dx}{\sqrt{x}(1-x)}}_{I_1}$$

$$\left(\begin{array}{l} u = \sqrt{x} \\ x = u^2 \\ dx = 2u du \end{array} \right)$$

$$I_1 = \int \frac{2u du}{u(1-u^2)} = \int \frac{2 du}{1-u^2} = \int \left(\frac{1}{1-u} + \frac{1}{1+u} \right) du$$

$$= \ln|1-u| + \ln|1+u| + C =$$

$$= \ln|1+\sqrt{x}| + \ln|1-\sqrt{x}| + C.$$

$$(7i) \int \frac{x \arctan x}{(1+x^2)^2} dx = \int \left(-\frac{1}{2} \frac{1}{1+x^2}\right)' \cdot \arctan x dx =$$

$$= -\frac{1}{2} \cdot \frac{1}{1+x^2} \cdot \arctan x - \int \left(-\frac{1}{2} \frac{1}{1+x^2}\right) \cdot \frac{1}{1+x^2} dx$$

$$= -\frac{\arctan x}{2(1+x^2)} + \frac{1}{2} \int \frac{dx}{(1+x^2)^2}$$

υπολογίζεται διαφορικά.

$$(7ii) \int \frac{x e^x}{(1+x)^2} dx = \int \left(-\frac{1}{1+x}\right)' \cdot x e^x dx =$$

$$= -\frac{x e^x}{1+x} - \int \left(-\frac{1}{1+x}\right) \cdot (e^x + x e^x) dx =$$

$$= -\frac{x e^x}{1+x} + \int \frac{(1+x) e^x}{1+x} dx =$$

$$= -\frac{x e^x}{1+x} + e^x + c.$$

$$(8i) \int \frac{e^x}{1+e^{2x}} dx = I \quad [u=e^x \Rightarrow du=de^x=e^x dx]$$

$$I = \int \frac{du}{1+u^2} = \arctan u + c =$$

$$= \arctan(e^x) + c.$$

$$(8ii) I = \int \frac{\ln(\tan x)}{\cos^2 x} dx \quad [u = \tan x \Rightarrow du = \frac{dx}{\cos^2 x}]$$

$$= \int \ln u du = \int u' \ln u du =$$

$$= u \ln u - \int u (\ln u)' du = u \ln u - \int du =$$

$$= u \ln u - u + c =$$

$$= (\tan x) \cdot \ln(\tan x) - \tan x + c.$$